

#### BID TABULATION

BID OPENING DATE 03/01/2016, PIER 1, SAN FRANCISCO						
CONTRACT N	UMBER	2776				
PROJECT NA	ME	MAINTENANCE DREDGING 2016 - 2020				
ALTERNATE PRIORITIES:		NO ALTERNATES				
LBE GOAL: 0%		TOTAL NUMBER OF CALENDAR DAYS:	ву 12/31/2020	ANNOUNCED CONSTRUCTION BUDGET:	N/A	
NUMBER OF BIDDERS: 02		ESTIMATE:	26,000,000	APPARENT LOW TOTAL BID PRICE:	\$ 25,875,000	

BIDDER ID NO.	TOTAL BID PRICE	APPARENT BID RANK	BIDDER INFORMATION
01	25,875,000	1	THE DUTRA GROUP HARRY K. STEWART, SR. VP 2350 KERNER BLVD, SUITE 200 SAN RAFAEL, CA. 94901-5595 HSTEWART@DUTRAGROUP.COM
02	37,623,250	2	R.E. STAITE ENGINEERING, INC. KATHA S. CARPENTER, VP 2145 E. BELT STREET SAN DIEGO, CA. 92113 RESTAITE@AOL.COM

(THIS PAGE INTENTIONALLY LEFT BLANK.)

## SCHEDULE OF BID PRICES THE DUTRA GROUP

Bid Item	Bid Item Description	Estimated Quantity	Units*	Unit Price	Extension
0	Unit Fuel Price (Refer to Section 00 41 50, DESCRIPTION OF BID ITEMS, for this item)		Gallon	\$ 1.64	
1	Mobilization (Refer to Section 01 21 50 for all the requirements for this item)	10	EA	\$ 25,000.00	\$250,000.00
2	Dredging of suitable for unconfined aquatic disposal (SUAD) materials, transportation and disposal at Alcatraz	171,000	CY	\$ 11.00	\$1,881,000
3	Dredging of suitable for unconfined aquatic disposal (SUAD) materials, transportation and disposal at Ocean Site, SFDODS	275,000	CY	\$ 23.00	\$6,325,000
4	Dredging of suitable for beneficial reuse, transportation and disposal at Montezuma Wetlands Restoration Project Site, as cover material	249,000	CY	\$ 32.00	\$7,968,000
5	Dredging of suitable for beneficial reuse, transportation and disposal at Montezuma Wetlands Project Site, as non-cover material	13,000	CY	\$ 60.00	\$780,000
6	Dredging of suitable for Beneficial Reuse materials, transportation and disposal at Montezuma Wetlands Project Site as cover material between March and May of any calendar year.	100,000	CY	\$ 30.00	\$3,000,000
7	Dredging of suitable for	100,000	CY	\$ 40.00	\$4,000,000

Bid Item	Bid Item Description	Estimated Quantity	Units*	Unit Price	Extension
	Beneficial Reuse materials, transportation and disposal at Montezuma Wetlands Project Site as non-cover material between March and May of any calendar year.				
8	Dredging of not suitable for confined aquatic disposal (NUAD) materials, transportation to Pier 94/96 for future disposal	10,000	CY	\$ 20.00	\$200,000
9	Transportation not suitable for confined aquatic disposal (NUAD) materials from Pier 94/96, and disposal at approved landfill	11,000	TN	\$ 30.00	\$330,000
10	Dredging, transportation and disposal of solid debris to an approved site	100	TN	\$ 300.00	\$30,000
11	Third-party dredge survey and volume calculation		AL		\$ 500,000.00
12	Testing of material for landfill disposal		AL		\$ 80,000.00
13	Crane lifting services		AL		\$ 500,000.00
14	Knockdown event	10	EA	\$ 600.00	\$6,000
15	Partnering Level 2 (Refer to Section 01 33 30)	_	AL		\$25,000
TOTAL	TOTAL BID PRICE (Sum of Bid Items 1 through 15 above):				75,000

\* $\underline{Note}$ : LS = Lump Sum, EA = Each, LF = Linear Feet, SF = Square Feet, CY = Cubic Yards, AL = Allowance

### SUBCONTRACTOR LIST THE DUTRA GROUP

BIDDER ID NO.	NAME AND LOCATION	CERTIFIED LBE	DESCRIPTION OF PORTION OF WORK SUBCONTRACTED	AMOUNT
01	ETRAC, INC.	NO	HYRDROGRAPHIC SURVEY	100,000
	CROSS LINK INC., DBA WESTAR MARINE SERVICES	YES	TUGS/TOWING	10,000
	MAXUM PETROLEUM	NO	FUEL SUPPLY	200,000
	I	J		
TOTAL 01				\$310,000

# SCHEDULE OF BID PRICES R.E. STRAITE ENGINEERING., INC.

Bid Item	Bid Item Description	Estimated Quantity	Units*	Unit Price	Extension
0	Unit Fuel Price (Refer to Section 00 41 50, DESCRIPTION OF BID ITEMS, for this item)		Gallon	\$ 1.81	
1	Mobilization (Refer to Section 01 21 50 for all the requirements for this item)	10	EA	\$ 25,000.00	\$250,000.00
2	Dredging of suitable for unconfined aquatic disposal (SUAD) materials, transportation and disposal at Alcatraz	171,000	CY	\$ 18.10	\$3,095,100
3	Dredging of suitable for unconfined aquatic disposal (SUAD) materials, transportation and disposal at Ocean Site, SFDODS	275,000	CY	\$ 33.00	\$9,075,000
4	Dredging of suitable for beneficial reuse, transportation and disposal at Montezuma Wetlands Restoration Project Site, as cover material	249,000	CY	\$ 41.80	\$10,408,200
5	Dredging of suitable for beneficial reuse, transportation and disposal at Montezuma Wetlands Project Site, as non-cover material	13,000	CY	\$ 71.00	\$923,000
6	Dredging of suitable for Beneficial Reuse materials, transportation and disposal at Montezuma Wetlands Project Site as cover material between March and May of any calendar year.	100,000	CY	\$ 47.55	\$4,755,000
7	Dredging of suitable for Beneficial Reuse materials,	100,000	CY	\$ 64.75	\$6,475,000

Bid Item	Bid Item Description	Estimated Quantity	Units*	Unit Price	Extension
	transportation and disposal at Montezuma Wetlands Project Site as non-cover material between March and May of any calendar year.				
8	Dredging of not suitable for confined aquatic disposal (NUAD) materials, transportation to Pier 94/96 for future disposal	10,000	CY	\$ 42.60	\$426,000
9	Transportation not suitable for confined aquatic disposal (NUAD) materials from Pier 94/96, and disposal at approved landfill	11,000	TN	\$ 77.25	\$849,750
10	Dredging, transportation and disposal of solid debris to an approved site	100	TN	\$ 112.00	\$11,200
11	Third-party dredge survey and volume calculation		AL		\$ 500,000.00
12	Testing of material for landfill disposal		AL		\$ 80,000.00
13	Crane lifting services		AL		\$ 500,000.00
14	Knockdown event	10	EA	\$ 25,000.00	\$250,000
15	Partnering Level 2 (Refer to Section 01 33 30)	_	AL		\$25,000

TOTAL BID PRICE (Sum of Bid Items 1 through 15 above):

\$37,623,250

\* $\underline{Note}$ : LS = Lump Sum, EA = Each, LF = Linear Feet, SF = Square Feet, CY = Cubic Yards, AL = Allowance

### SUBCONTRACTOR LIST R.E. STRAITE ENGINEERING., INC.

BIDDER ID	NAME AND LOCATION	CERTIFIED	DESCRIPTION OF PORTION OF WORK	AMOUNT
NO.		LBE	SUBCONTRACTED	
02	ETRAC, INC.	NO	SURVEY	500,000
	R&S TRUCKING	NO	TRUCKING TO LANDFILL	137,309
TOTAL 02				\$637 <b>,</b> 309